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Ritp:/ffarbe i tu-berlin.de/AEOG/AEOBL3NP.PDE /.PSstart outplt, page 3/3

N: no 3D-linearization (OL) in file (F) or PS-startup (S)

L*/Yintended 0,0/0,0

6,3/0,7

12,7/1,5

19,0/2,7

25,4/4,5

(absolute)
W* W* w*
setrgh
gp=1,000
No. and
Hex code

*—|*
| ,ICIELAB, r
(relative)

W¥intended 0,000
W¥output 0,000

part 3, picture A7dd: 16 visual equidistarit*-grey steps; PS operatev* w* w* setrgbcolor

0,067
0,067

0,133
0,133

0,200
0,200

0,267
0,267

0,333
0,333

(OR10]0)
0,400

0,467
0,467

In-out: Test chart AEO6 according t80 9241-306

0,533
0,533

Viewing Y contrast Y\y:YN=88,9:0,31;YN-range 0,0 to <0,46
] M Y [0)

31,8/6,9 38,1/10,1 44,5/14,2 50,8/19,1 57,2/25,1 63,6/32,3 69,9/40,7 76,3/50,4 82,6/61,5 IBHIEBIZ

T &

= ®

2.9

Q3

Q=2 - - -

=5 || LAB*« I* ot LAB* o LAB* oref  AE* Start output S1 For linearized output of the 16 grey steps of Picturg, A7

S = |1 000 000 000000 000 000 000 000 000 000 001 Specification according to .

=h = ' ' ' ' ' ' ' ' ' ' ' 1k _ 7

S % |26% 0w 0000 636 000 000 000 000 000 001 ISO/IEC 15775 Annex G W 1,001 (d.ash s.tar) coordmat@to reach Y

3 @ |3 1272 000 000 013 1272 000 000 000 000 000 001 and DIN 33866-1 Annex G W e the linearized output with the real

g. = |4 1908 000 000 020 1908 000 000 000 000 000 0,01 W,*Ou pu display reflection in office room;

gg 5 2544 000 000 026 2544 000 000 000 000 000 0,01 output lighter (positiv P) output ,

TF |6 3180 000 000 033 31,80 0,00 000 000 000 000 001 1.00

— Lok = * , /7
-:a % 7 3816 000 000 040 3816 000 000 000 000 000 001 0,757 W™ ouput = [Wrinpu] 4

=® |8 4452 000 000 046 4452 000 000 000 000 000 001 7

Q" |9 5088 000 000 053 508 000 000 000 000 000 001

g? 105724 000 000 060 57,24 000 000 000 000 000 001

:8 116360 000 000 066 6360 000 000 000 000 000 001 050+

ol g 1269,96 000 000 073 699 000 000 000 000 000 001 ' *' (star-dash) coordinates

1

o5 |137632 000 000 080 7632 000 000 000 000 000 001 . . of real output with real

R @D |148268 000 000 085 8268 000 000 000 000 000 001 Mean lightness difference . oo , )
=5 display reflection in office room;
S 158904 000 000 093 8904 000 000 000 000 000 001 (16 Steps) )

ag 169541 000 000 100 9541 000 000 000 000 000 001 AE*cig g =0,0 0,254 darker (negativ N) output

(o) ; - 1,00

o> 17000 000 000 000 000 000 000 000 000 000 001 W* outout = [W¥input]

= [1®285 00 000 025 2385 000 000 000 000 000 001

gg 19 47,70 0,00 000 050 47,70 0,00 000 000 000 000 001 Mean lightness difference Wt
Ik 207155 000 000 075 7155 000 000 000 000 000 001 (5 steps)

=L * N 0,00 ' ' '
=R |219541 000 000 100 9541 000 000 000 000 000 001 AL*cgag =0,0 ) , ! ! !
%Z Mean colour reproduction index: R*,, , = 99,9 N 0,07 0,25 0,50 0,75 1,00 W
ya

®  Tpaty AEOGO-3dd: 00302 part2, AEOBI-3dd: 00302
—
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0,667
0,667

0,800
0,800

0,600
0,600

0,733
0,733

0,867 0,933
0,867 0,933

AEO060-7dd: 00302

input: rgb/cmy0/000n/w set... t

output:->rgbgq setrgbcolor
L \Y

1,000
1,000
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